EARAROBEEIERT — 2 N— IBISH —F 20135F3H23H (+) 22mFELLI3AH

IGBC1= C1= #45%—1# (w8 | imEmml - |5 6) oo
[AE£] 1% :120,000  ~ 2#&:24,000 ™  33%&:12,000 M  4%&:6,000H ~ 5%&%:0MH
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- - HEIBThIR 122, -3-4- . — EARE (f&EL
1155752751 b B4 i} 1(2_2)6 3-3-4-3 | 38.9 3 x;s) BAE
R:T7oBRT49 7548 B:7543~A10— EARKS
L 44 | FER=R 1:22.6 5-5-3-1 |38.8| — 4 469 | BAEEA (HRLL)
o3| -7 A%— 6.0 (757 e | B) Hkkis
LA —JIhTx B:IUARKRIR RS
s A P i3 | FERE 1:23.0 1-1-1-2 | 40.0| — 1 426 | BAKRFE (EL)
3 gl RAT) == 54.0 @ (a) | A WAAS
R:VZRAB—IZRE— B.vX¥NEZE—F— RN
< 4 | EHEX 1:23.1 5-6-6-5 |38.9| — 2 550 | AL (15IL)
4 2| TLIN=y A F— " 56.0 (3/4) 4g) | ) T¥2B b
R:T7IxA2¥AL BIVUEII=— IJwILTRIXA b
KEFESE 124, —3-5- . — BAE— (1R
501]1|72v85 1 e - S IR R P
L:TAVHERZ B:TSALI N — FiE ES
© 7t B At 124. —8-7- . — FIIE# (@)
6lzl 7|2/ T25—F i 5 L 1(214)3 8-8-7-7 | 39.5 6 (4+230) ;EE
vy BANLTF-=I Slise
N FEIREE S : 01— — AlEF (&)
1 - BEYXEP OIS LR i [raes a4 | 40.0 ! f_‘g A
ARV TN— BaAXSXYTE [EEETES
o0 ESEIEI :24. ~7-8- . — BAE— (&)
slglg|vARENAFD it 6 S (12214/28) 7-7-8-8 | 40.0 8 <4+131) ity
L:77)—h B:S5TTI7M458— EEte ]
@ 1—F—@&BIEf
13=7r= 4,6,(1,5),(2,3),8,7
Aol=5r= 4,6,(1,5),3,2,8,7
30—7+— (4,6),3,5,1,2,7,8
43—+ — 3,4,5,6,2,1,7,8
[ RN
B OB 5 400M 714K 3-5 340M B E 3-5 1,120 &R 3-4-5 640M
8 B 5 150 4-5 190 B H 523 2,210M JEH 5-3-4 5,220
3 190 3-4 260M
4 110

ABICOVWTRDTEEERROODE. TR LIV,



